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According to the color of this sentence: It is not easy to learn a for'eign language.
TRNGL: It is not easy to learn a foreign language.

@ important
@ so hard

3 enjoyable
@ interesting

@nth Teachers On Call

USE & PRINTING outside of eTOC are
strictly PRORIBITED.

TRNG2: It is not easy to learn a foreign language.

@ keep the friendship for a quite long time

@ rely on someone hot special

® get used to the different environment
@ trust the stranger
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looking at the English part and say it out loud. Teacher must check their answer.
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* Try to translate into English by yourself without
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According to the color of this sentence: LT 1S unusual for him to 921’ up ear'ly.
TRNGL: It is unusual for him to get up early.
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USE & PRINTING outside of eTOC are

TRNG2: It is unusual for him to get up early. ISR F—YRS-

@ on time.
@ in the morning.
® late.
TRNG3: It is unusual for him to get up early.
@ finish it
@ leave school

®3) eat dinner
@ take a bath

* HAGET T 2 COGBICARL TE > TA £ L & 9, *Try to translate into English by yourself without
looking at the English part and say it out loud. Teacher must check their answer.
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Try: BFEC L C, SoTHEL LS ! Memorize and say these by heart!
examplel: It is important to keep trying.
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example2: Is it really healthy to run every day?
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Put the words in the cor'r'ec‘r order to make a sence.

( problem, easy, it, to, environmental, not, the, solve, is ).
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USE & PRINTING outside of eTOC are
strictly PROHIBITED.
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Try: ﬁbi/ié LT, éo THEL X9 ! Memorize and say these by heart!
examplel: It is too difficult for' him to pass this test.
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example2: It is not necessary for us to bring the ID cards.

b ARVASS [0SR
[ID I—FZHF-TLK 52 LiE, bhvbIZE>T L FLHLMLETITIH Y %
A, |
example3: It is just oo much for me to run ‘the company.
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Put the words in the correct order to make a sence.

( together, important, is,
family, to, dinner night, our, it, for, have, every ).
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